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Add 2 Pointe

to your ccorel

LAP

Add 3 Pointe

to your ccorel

Add 2 Pointe
to another

teame ccorel

Add 3 Pointe

to another

teame ccorel

Take 1 point
off your ccore.

Take 1 point
off of another

teame ccoro.

You rockl!

You rockl!
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1. What is the difference
between 653 and 797

2. Name a quadrilateral with
one pair of parallel line.

3. What is the missing factor?

9 x =63

4. What symbol goes between
the fractions 1/2 1/4

5. Which unit would you use to
measure snow in your backyard:
inch, liter, ounce, milliliter

6. What does 27 -3 equal?

7. Which unit is most likely used
to measure cereal someone
might put in a bowl before
they add milk?

gallon, quart, teaspoon, or cup

8. A square has the length of 4
inches. What is the area of the
square?

9. A rectangle has the lengths of
8 cm and a width of 5 cm. What
is the perimeter?

10. A rectangle has the lengths
of 8 cm and a width of 5 cm.
What is the area?

11. If you know that 4 x 8 equals
32, what else do you know?

a. 8x4=30 c. 32+8=8
b. 32+4=8 d 8+4=32

12. Which symbol correctly
compares the two numbers
below?

13 What is the numerator in the following
fraction?

Ll w

3/3 3/1

14. Which expression is equal to (3 x 5) x 27?
a. 3x7 c. 3x(5x2)
b. (5x3)+2 d. 8x2




Which expression matches the picture

15. below? 16. What is 543 rounded to the
@ @ @ nearest 107?
a. 4x4 c. 3x4
b. 4x3 d. 3x3
17. Y:';L‘:eh gq”u“;f:zzcsglgf:ﬂace the variable |18 A restaurant had 54 left over rolls at the
' end of the night. The nine employees who
h+4=9 .
were working shared the rolls equally. How
a. 34 c. 45 . 5
oo o e many rolls did each employee get:
19. . Which fraction is equivalent to 2/3? 20. What is 508—429?
a. 2/6 c. 1/2
b. 4/6 d. 1/6
2%, What are the missing numbers in the 22. Nicolaiate half of a pizza. Which figure
pattern below? could represent the pizza where the
shaded section is how much Nicolai ate?
e D D
a. C.
a. 20and 34 c. 21and 34
b. 21and 33 d. 20and 33
b. d.
23. Sam bought a pack of gum |24. What is true for all multiples of two?

for $2.34. He paid with $5.00.
How much change should he
get?

They all end with two.
They are all odd numbers.
They are all even numbers.
They all end in zero or two.

Qo0 o w

25. Chris bought 2 pieces of can-
dy. Each piece cost $1.25. He
paid with a $5.00 bill, how much
change should he get back?

26. What is the location of A (written as
a fraction)?

w
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AN ]
0

e

27.Ella has to be at gymnastics at
4:50. It takes 35 min. to get to
gymnastics. What time should
they leave?

28. What is the sum of
835 + 6497




Name:

1.

3. 4.
5. 6.
7. 8.
9. 10.
11. 12.
13. 14.




15

17 18
19 20
21 22
23 24
25 26
27 28




1. 2.
574 trapezoid
3. 4.
7 >
5. 6.
inch 9
7. 8.
cup 16 sq. inches
9. 10.
26 cm 40 sqg. cm.
11. 12.
b <
13. 14,
3 C




15. C 16. 540
17. D 18. 6
19. . B 20. 79
21. A 22. C
23. $2.66 24. c
25. $2.50 26. 2/3
27.4:15 28. 1484




1. Rewrite the word persons as it should
appear in the sentence.

A persons bucket may be full of
apples after picking for only a short
time.

2. What is the subject of the
sentence below?
Chris forgot his folder at school.

3. Is the date in this sentence written

correctly?

Easter is on Sunday, April 1, 2018.

4. Isthe date in this sentence written

correctly?

Easter is on Sunday April 1, 2018.

5. Is the comma used correctly
below?

We had a party on May, 1 2015.

6. Is the comma used correctly
below?

We had a party on June 2, 2017.

7. Write the plural form of the

8. The chocolate was left outside

noun bunny. and melted. What is the cause?
9.This is the egg | have |10.The child happily searched for
ever seen. the egg.

bigger, most big, biggest, more big-

What is the adverb in the

sentence.

11. Rewrite the title of the book
using proper Capitalization.
hopping down the bunny trail

12. Name the abstract noun in
the sentence.

Egg hunts bring back memo-
ries of my childhood.

13. Which word is the pronoun in
this sentence.
Presley ate of her Easter candy.

14. Does the word reread have a
prefix or a suffix?




15.1s this sentence a metaphor or a
simile?
Easter is a joy.

16. Does the word careless have
a prefix or a suffix?

17. Which word is the verb in
the sentence below.

The bunny hopped by the basket.

18. What part of speech is Chase in
the sentence below? (noun, verb,
or adjective?)

Chase is happy to have a few days off
from school.

19.Is this sentence written
correctly?

The two girl’s had a good time

hunting for eggs.

20.1s this sentence written cor-
rectly?

The boys’ got a big basket from

the Easter Bunny.

21.1s this sentence written
correctly.

The bunny filled the two girls’
baskets with eggs.

22.1s this sentence written cor-
rectly?

Colin said, “I always eat the
bunny ears first.”

23.1s this sentence written correctly?

The bunnys hopped past the eggs.

24 .Is this sentence written cor-
rectly.

”

“Can | have a piece of chocolate
asked Lia.

25. What is the root word of
priceless?

26. What is the root word of
writer?




15.metaphor

16.

suffix

17. hopped 18. noun
19. NO 20. No
21. yes 22. yes

23. no 24. no
25. price 26. write




1. Person’s

Chris

3. YES 4. NO
5. NO 6. YES
7. bunnies 8. chocolate left outside

9. biggest

10. happily

11. Hopping Down the Bunny

Trail

12. memories

13. her

14. prefix







